[image: Base:Users:juliethomas:Desktop:Screen shot 2012-10-18 at 8.57.50 PM.png]
[image: Base:Users:juliethomas:Desktop:Screen shot 2012-10-18 at 8.58.01 PM.png]
image1.png
ACTIVITY 72 Closed Doodles

The sketch opposite shows an example of
a closed doodle, that is, it starts and finishes
at the same place.

This particular doodle has

3 crossover points

5w

4 internal regions
6 arcs (or branches).

The arcs are labelled 1 to 6 on the sketch. A
There is a surprisingly simple relationship between crossovers, regions and arcs.

In drawing a closed doodle, note that the pen or pencil must never leave the paper, and must
not go over any part of the doodle more than once.
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Draw 6 closed doodles of your own.

Crossovers

Regions

Ares

Copy and complete the table. A

4

From your regions, and writing

¢ = no. of crossovers, r = no. of inside regions,

deduce a simple formula which connects these 3 numbers.

= no. of arcs

Draw 2 more complicated closed doodles and show that your formula still holds.

Does the circle obey your rule?

Does your rule hold for ‘cloverleaf' type doodles,
as shown opposite?

Design a more complicated doodle of this type.

Does it still obey the rules?

Can you construct closed doodles with
@ =6, r=1, a=12

® =8, r=3 9

© =5 r=9, a=13?

If so, construct an example to illustrate it, but if not, explain why not.









